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Jil o

< U6 JL£U Cesium Bromide ¢ use it i ar

A) CsBr B) CiBr
C) C¢BN D) None of the above
- < /¢v¥Rb,0 Binary compound
A) Rubidium B) Radium oxide
C) Rubidium oxide D) Radium
_ue/deal £ Zequivalence S UsS i S35 w96 L- /6 Thermodynamics
A) Second Law of Thermodynamics B)  First Law of Thermodynamics
C) Third Law of Thermodynamics D) None of the above
-‘LL"M'J}‘/ 4atoms ——— mole£¥Chlorine atom
A)  6.022 x 10** atoms B) 6.022x 10* atoms
C) 6.022 x 10* atoms D) 6.022 x 10 atoms
_‘Léé 2 Lmole I NHsub- s e At 5.00a0
A)  6.022 x 10* molecules B) 3x6.022 x 10*° of H atoms
C) 1 mole of Nitrogen atom D) All the above
—e U Ut Molar mass
A) gmol® B) gmol*
C) gmol® D) gmol
el S Fhot saturated s Z f £ Crystallization
A) is cooled very slowly to get large sized crystals
B) is cooled at a moderate rate to get medium sized crystals
C) is evaporated to get crystals of the product
D) is mixed with immiscible liquid to get crystals of the product
e Ui e — S e el equilibrium process {1/ £ 2 ¢ Solvent
A) Law of mass action B) The amount of solvent used
C) Distribution law D) The amount of solute
e Josif s density SOy tufreeze L 0°C iz
A)  Empty spaces present in the structure ofice  B)  Change of bond lengths

C)

Cubic structure of ice D) Change of bond angles



_‘Lf; ‘«_.Jmivelocityu( Photonulbb-wde Ui 5000
A) Independent of its wavelength
B) Depends on its wavelength
C) Equal to square of its amplitude
D) Depends on its source

_Jn@cuﬂJmoleculesuﬁ 14gL N, (nitrogen gas)

A) 3x10% molecules B) 3.011 x 10*' molecules
C) 3.011 x 10* molecules D) 3.011 x 10* molecules

o
.

H=1.0_.4C =12 amu /mfn‘f;ﬂﬁu(moles of molecules® 159 £ C,H, (ethylene)

-Jratomic mass amu

A) 5.36 mol B) 0.536 mol
C) 0.239 mol D) 0.5 mol
-f/JL '/“f"d/law of conservation of mass
A) Farad in 1799 B)  Albert Einstein in 1889
C) Antoine Lavoiser in 1789 D) None of the above
<t cud/ law of thermodynamics g/oM!KT hermodynamic parameters
A) Second Law of Thermodynamics B) First Law of Thermodynamics
C) Third Law of Thermodynamics D) None of the above
-¥x»” molar mass ¥ glucouse (CsH120s)
A) 180 mol B) 121 mol
C) 190 mol D) 139 mol
Ex molecular mass ¢ H,0
A) 180u B) 121u
C) 18.02u D) 139u

-‘Lﬁﬁtgu(fb;lﬁfgfcopper LnL/JLx?/!K 100g£ copper sulphate (C,SO,)

A) 39¢ B) 39.81g
C) 29.81g D) 29¢
—c bbby /— oxidizing agentss>
A) Oxidation B) Imbalance
C) Reduction Potential D) None of the above
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_‘Léf < Ji Zpath function wil-wse At 5o u0 19
A) The system variables which depend upon the path of the system
B) The system variables which do not depend upon the path of the system
C)BothA&B
D) None of the above
i i ) 20
-<intensive propertys ¢y e Uit o
A) Temperature B) Viscosity
C) Density D) All of the above
_‘LJ@,{!Jextensive property s s e At o ue 21
A) Temperature B) Density
C) Internal Energy D) Surface Tension
-« w1 Zthermodynamics P e S 5o si 22
A) Only to microscopic system B) Only to macroscopic system
C) Only to homogeneous system D) Only to heterogeneous system

-‘LV/&HG'JBOhr model of atom wkb-wse At 5o su 23
A) Planck quantum theory
B) Pauli's exclusion principle

C) Heisenberg's uncertainty principle
D) All the above

e tplfYenergy ¥ (i orbitals — 24
A) Hybrid Orbitals B) valence orbitals
C) Degenerate orbitals D) d-orbitals

_Jn(ff;uﬂébondsuﬁnitrogen molecule  %°

A) one sigma and one pi B) one sigma and two pi
C) three sigmaonly D) two sigma and one pi

_Jn(j’tuﬂd’"&micronsuﬁl.Okm-LLL“tgL{micron S (1pm) micrometer (i 26

A) 1.0x10"pm B) 1.0x10°um
C) 1.0x10°um D)  None of the above
-« ,12Z10 inches 27
A) 02m B) 0.3m
C) 0.354m D) 0.254m



A)
C)

A)
C)

A)
C)

A)
C)

_‘LL";@L:CL,‘J;@(J dyne/cmsz-‘am 19 x 10" N/m* Young's modulus § metal (i

19 x 10 dyne/cm? B) 19 x 10" dyne/cm
19 x 10" dyne/cm? D) 19 x 10" dyne/cm

-ugcharacteristics/7i{ikunit standard g b e S 5o

Permanence and Invariability B) Indestructibility
Reproducibility D) All the above

-‘LWgJW!iLﬂE:J&EJ‘)’ /K@/VU/&J&)’;/%
Radi-echo method (RADAR or SONAR) B) Laser Pulse Method

Parallax method D) None of the above

- ol JUxZ Jpossesss dimensionszconstants<.
Dimensionless B) Dimensional Constants
Inconsistent constants D) None of the above

2 (ratio) ¢ (quantities)..é* 5 Z dimension s £i% U Physical Quantities

A)
C)

A)
C)

A)
C)

A)
C)

A)
C)

<& o s
Dimensionless B) Dimensional
Both A& B D) None of the above
Bl ——/Dimension Analysis
Robert Tuple B) Paul Humpkins
Morgan Healey D) Joseph Fourier
-<-unit¥ —— Light Year
velocity B) Distance
Time D) None of the above
—etwnled — DimensionZKinetic energy
Work B) Force
Time D) None of the above

—< 2 dimensions< LIL pair «ufe idsoe
Specific heat and latent heat B) Surface tension and force
Impulse and momentum D) Moment of inertia and torque
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A)
C)

A)
C)

A)
B)
C)
D)

A)
B)
C)
D)

A)
C)

A)
C)

En
A)
C)

A)
B)
C)
D)

A)
B)
C)
D)

37

-« tw ————angular displacement circular motion
dimensional quantity. B) dimensionless quantity.
unitless and dimensionless quantity. D) unitless quantity.
- tlle —Jangular displacement 38
metre. B) time.
radian. D) steradian.

_‘Lééa.wiuniform circular motion wib-wse At 0 u0 39

both velocity and acceleration are constant.
velocity changes and acceleration is constant.
velocity is constant and acceleration changes.
both velocity and acceleration change.

-~ e Uinyiconstant angular velocity Jzcircular orbit/particle 40

its motion is confined to a single plane.

its motion is not confined to a single plane.
nothing can be said regarding the plane of motion.
its motion is one-dimensional.

—cdnesn S force 2 £ &F5 Ut uniform circular motionsbody L4

centripetal force. B) centrifugal force.
frictional force. D) breaking force.
e L S iffatse sssstcream seperator i 42

cohesive force. B) gravitational force.
centrifugal force. D) viscous force.

£ gforcespz g$s6utinertial frame.s ».J8J5 Ut circular track ¢z 43
acting away from the centre. B) acting towards the centre.
zero. D) acting tangential to the track.

£ TP vertical circlesosg 44

kinetic energy is constant.

potential energy is constant.

neither K.E. nor P.E. is constant.

both kinetic energy and potential energy are constant.

et/ Utvertical circlesss 45

it has constant radial and tangential acceleration.
it has variable tangential and radial acceleration.

it has only constant radial acceleration.
it has only constant tangential acceleration.



L (J7) instrument g divisions 10 L vernier scale./i-gdivisions 20 *<_k. < 4cm

_l?n /P’zﬁ/}!{

A) 0.005cm B) 0.005m
C) 1.005cm D) 1.005m
—c-unit¢’ Electron volt
A) Charge B) Potential difference
C) Energy D) Magnetic Force
-<twk joules watt hour (i
A) 36x10°] B) 3.6x10°]
C) 36x10°J D) 3.6x10°J
Py density §3, ,4°C
A) 10°kgm™ B) 10°kgm™
C) 10°kgm™ D) 10°kgm™
< linear velocity $»5-£i; N-PoleZ
A) zero. B) 486 km/hr
C) infinite. D) 125m/s
r)),-"?
_Kng,,uzéééuﬁuﬁsgw?ng@m = {{ab):a=b-2,b>6} R relation/1stN cxr L
A) (24)€eR B) (3,8)¢R
C) (68)eR D) (8,7)eR

Siour 3nd LB A ={(1,4),(2,5),(3,6)} function {i.sB= {456} A={1,2 3}/

Kl .,,uzzé‘ Y
A)  Function fis one-one B) Function fis not one-one
C) BothA&B D) None of the above

12l e STl bde f(x) = 3x el d F R > R S|
A) fisone-one onto B) fis many-one onto
C) Fisone-one but notonto D) Fis neither one-one nor onto
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_Kngﬁ,mgauﬁd;,?/pié* binary operation # ( Z, definea*b=a-b )

A) Operation * is not commutative B)  Operation * is not associative
C) BothA&B D)  None of the above
p . . . . 55
_Kng..,mééz_uﬁ‘)“s.yﬂié* binary operation_® ( Q, definea*b=ab+1 )
A) Operation * is commutative B) Operation * is associative
C) Operation * is not commutative D) None of the above
é . . z 56
-r& » binary operations& U<{ a, b}
A) 10 B) 16
C) 20 D) 8
7 . . 57
_$x principle value ¢ sin™? (— %)
A _T B) T
6 6
¢ _Z D) T
2 2
7 .. 58
_$xV principle value ¢ cos™! (‘/;)
A T B) T
6 6
c) _rI D) T
2 2
7 .. -1 59
_$=f principle value ¢ tan~1(-1)
A T B) T
2 2
c) _I D) T
4 4
e - I - 60
S Fvalue & e tdioe je sinTlx =y /i
A) O<y<nm B) _gsysg
©) O0<y<m D) Tyl
2 2



A)

C)

A)

A)

A)
C)

A)
B)
C)
D)

A)

A)

C)

ey value ¢ tan~1+/3 — sec™1(-2)
T B) T
3
T D) 2m
3 3
neyyys value  cos™? (cos 7?”)
Tn B) 5m c T D) T
6 6 3 6
Neyyys value J sin (g —sin™! (— %))
1 B) 1 o 1 D) 1
2 3 4
S value Szutyxe St 5o
=0
x 5 1 5
x=1y=4andz=3 B) x=8,y=1landz=4
x=4,y=landz=3 D) x=38,y=4andz=1

S value Szutyxe St 5o e

x+y 2]_6 2]
5+z xy| |5 8
x=2,y=4andz=0 orx=0,y=4andz =2

x=2y=4andz=0 orx=2,y=4andz=0
x=4y=0andz=2 orx=2,y=4andz=0
x=4y=2andz=0 orx=2,y=4andz=0

i square matrix—£i A = [a;lmxn

m<n B) m>n C) m=n D) None of the above

_Sunsl, matrices Uind L values §usSysixe St s i
3x+7 5 ]_P y—ﬂ
g 4

y+1 2-3x
-1 B) not possible to find
xX=—,y=17
3
_ - =2 D) -1 -2
Y= hETg T3V
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_‘fn ;uﬁJmatrices of order 3x 3 dc'(l?d/matriceséLLaJVLentryJOglv{l/;
A) 27 B) 18 C) 81 D) 512

n=p/!-uj.,;ﬂg 2xn,3 xk,2xpnx3andp xk orders matrices P .s\W- Z:Y:XQ/J‘/'

Ky ordersmatrix 7X - 5Z J
A) px2 B) 2xn C) nx3 D) pxn
- € AB - BAY e {iorder §u1.4:Symmetric Matrices B.sA
A)  skew symmetric matrix B) Symmetric matrix
C) Zero matric D) Identity matrix
- N1Z uxinverse Lo 55 LIB.sA Matrices
A) AB=BA B) AB=BA=0
C) AB=0,BA=I D) AB=BA=I

e S d S skew symmetric FL 25L& »Symmetric A matrix (.

LT
A) Alsadiagonal matrix B) Aisazero matrix
C) Aisasquare matrix D) None of the above
_‘L{;ugvui/cuﬁd‘}g/ﬂ
A) Determinant is a square matrix
B) Determinant is a number associated to a matrix
C) Determinant is a number associated to a square matrix
D) None of the above
K, L |adj A| 7<-3x3 orders_? _nonsingular square matrix_{iA./
A 4] B) |4l
SENVIE D) 34|
cer=6 Jifn——sLLr radiusZ 1 (rate)r 2 area Z circle ]

A) 10n B) 12n C) 8n D) 11in
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o V/L}LR(X) =3x%2+36x+5~ ey &M’J(Jﬂr‘ = _"};} d/ X-units £ product .,Q

RO

-<x = 15/ x/marginal revenue
A) 116 B) 96 c) 9 D) 126

-< strictly decreasingé’_zi(o, g) functiont-wye Ut 5o u
A) cos x B) cos2x C) BothA&B D) None of the above
—c vy = x%e7* Uiy~ (interval) s
A) (-, ) B) (-20) C) (2 ) D) (0,2)
_Lf sapproximate value — f(3.02) i« f(x) = 3x2 + 15x + 5/
A) 4766 B) 57.66 C) 67.66 D) 77.66
s e oo product €7 sl 24 ﬁ S (numbers) s els;
A) 12and 12 B) 13and11 C) 14and 10 D) 9and 15
ng s /L (0,5)Szpoint, x% =2y curve (i
A) (V24) B) (¥20) C) (0,0 D) (2,2
7 L A—x+x? .
Svalued o S——52 Lreal valuesptidx
A) 0 B) 1 C) 3 D) 1/,
Ky <point (2, -1) slope ¢ tangentL x =2 + 3t —8,y =2t — 2t — 5 Curve
A) 22/7 B) 6/7 C) 7/6 D) —6/7
e value/m./¥~tangent y = mx + 1 Line iz y? = 4x Curve
A) 1 B) 2 C) 3 D) 1/,
_€xgpoint (1,1) normal (i 2y +x2 =3 Curveulluse U ou
A) x+y=0 B) x—y=0 C) x+y+1=0 D) x—y=1
€x f() I f(2) = 0L LL f(x) = 4x> — 2]
A) x4+i—£ B) x3+i+£ C) x4+i+£ D) x3+i—£
x3 8 x4 8 x3 8 x4 8
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A)
C)

A)
C)

A)

En
A)

mﬂu(arbitrary constants (* general solution £ differential equation Jfourth order u”{u/(

A)

;!ﬁu(arbitrary constants % general solution £ differential equation Jthird order u”{u/(

A)

A)
C)

A)
C)

A)
C)

tanx + cotx + C

tanx cotx + C

tanx + cotx + C
—tanx +cotx + C

10

Aol A+ 2y +4z+5=0 . 2x+y+22=8 U5 U (parallel)$iss»
B) 5/2

3 /2

0

3

Scalar Quantity
Both A& B

1+a?+By=0
1—a?-By=0

Vector Quantity
Both A& B

B) 0

B)

B)

2

2

_94!45
B) tanx—cotx+ C

f dx

sin2x cos? x

D) tanx — cot2x + C

_94145
B) tanx +cosecx + C
D) tanx — secx + C

_94!45
C) 1 D)

C) 7/2 D)

2x — cos? x

f sin

sin?x cos? x

factorial Zero (0V)
-1

9 /2

_444!4 Z

C) 3 D)

4

_444!4 Z

C) 1 D)

B) Vector Quantity
D) None of the above

0

-<—10kg

-‘LgiéAz = |LU:J‘5,..>//C-’;LL [;)f —ﬁa] S

B) 1—a2+8y=0
D) 1+a2-By=0

B) Scalar Quantity
D) None of the above

12

_‘4—40watts
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A)
C)

A)

A)
C)

A)

A)

_‘L—Z meters north-west
Vector Quantity B) Scalar Quantity
Both A& B D) None of the above
_94¢4£ (20%) 42062
20 B) 4 C) 04 D) 0.04
Kol Ut L5200 F(X) |F<—0dd function (i f (x)./7
an odd function B) an even function
neither odd nor even D) even and odd
S valued x Jo Log, (1/8)=-3/2 J
-4 B) 4 C) 1/4 D) 10
Nyrd b? - dcixintegers s rootsL X2 —bx+c=0 equation /i
2 B) 3 C) 2 D) 1

*hhkkhkkikkkikik
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Rough Page
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Rough Page
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